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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Please leave ---------- directions for the housekeeper, so she knows what needs to be done.
1) restless 2) explicit 3) authentic 4) cursory

2-  The islands ---------- their name from the sacred images found on them by the early
European navigators.
1) illustrate 2) grasp 3) derive 4) infer

3-  People love the Presidio because it is in close ---------- to many area attractions, including
the famous aquarium, the SFB Morse Botanical Reserve and the Spanish Bay Resort
Golf Course.
1) proximity 2) observation 3) relevance 4) accord

4-  This system, which for many years subsequently was regarded as authoritative, has been
subjected to ---------- criticism by later economists, and it is perhaps not too much to say
that it now possesses mainly a historical interest.
1) feeble 2) shaky 3) transient 4) vigorous

5-  Although Norman could ---------- his sister’s story about her innocence to absolve her, he
refused to do so because he was angry at her.
1) testify 2) retain 3) corroborate 4) fulfill

6-  When he came in to tea, silent, --==------ , and with tear-stained face, everybody pretended
not to notice anything.
1) showy 2) morose 3) facetious 4) mercurial

7-  Since color is absorbed as it travels through water, the deeper you are, the more likely
you will notice a ---------- in the clarity of reds, oranges and yellows.
1) deception 2) competition 3) intensification 4) reduction

8-  As the students argued, the teacher tried to ---------- them into silence with the threat of a
detention.
1) condemn 2) coerce 3) impose 4) condense

9-  Teachers who consider cartoons and comic books ---------- to students’ literacy skills
often use class time to deride these media.
1) harmful 2) indispensable 3) pertinent 4) conducive

10- Salt is valued not only because of its ---------- as a condiment and preservative, but also

because they are essential to the health of humans and animals.
1) properties 2) temptations 3) variances 4) predictors
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Being funny has no place in the workplace and can easily wreak havoc (11) -----—-----
an otherwise blossoming career. Of course, laughter is necessary in life. But if you
crack jokes (12) ---------- snide remarks at work, you will eventually not be taken
(13) ~=-mmmmm- . You will be seen as someone who wastes time (14) ---------- could better
be spent discussing a project or an issue. Additionally, many corporate-minded
individuals do not have the time to analyze comments with hidden meanings-they will
take what you say (15) ---—--—--- and as an accurate representation of your
professionalism in the workplace.

11- 1)in 2) for 3) on 4) at
12- 1) to be made 2) then make 3) which they make 4) and make
13- 1) serious by others 2) seriously by others
3) by some others serious 4) being seriously by others
14- 1) when 2) that it 3) and 4) that
15- 1) as absolute 2) that is absolute  3) is absolute 4) be absolute

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

A unique aspect of the cellular production system in contrast to conventional production
systems is that it enables production to be directly linked to the market. In this context,
process integration is essential, permitting production that responds agilely and
promptly to changes in market requirements. Needless to say, the concept of process
integration contradicts conventional supply-oriented (push-type) manufacturing and
conveyor approaches, with their division of labor, which are considered efficient
production systems for such manufacturing. Process integration instead focuses on having
operators build the complete product or a whole functional part of it, either as a team or
individually.

With process integration, the operator does not simply handle one tiny element of
work, but takes responsibility for the entire operation and its completion.
Consequently, operators clearly understand the meaning of the work they are doing
and enjoy a strong feeling of achievement, which also has a positive effect. Production
systems designed for large-volume production of a limited number of product models
generally use conveyor-type lines. However, even when faced with a situation of
multiproduct, small-lot production, many people engaged in production engineering
still cling to the mentality that conveyer-type production is the proper model for all
assembly lines. In contrast, the Toyota method, by adopting U-line production, has for
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17-

18-

19-

20-

many years been used to achieve process integration in the form of one piece flow
production, from fabrication operations through work completion. In regard to work
area layout, process integration in cellular production systems, designed for quick
response to changes in market requirements, is the same as U-line production. The
basic concept of cellular systems is that finished products are completed by individual
operators, with the objective of quick, essentially simultaneous response to the
multitude of customer requirements that result from the trend toward greater product
variety.

Process integration in cellular production systems is worthy of study because it
offers a work system that routinely follows fluctuations in the market, enables
production to be synchronized with the market, and provides a structure for self-
completion of work based on operator control.

Cellular production system ---------- .

1) focuses on manual operations rather than machinings

2) creates a straight link between product manufacturing and market
3) predicts the needs of market in advance

4) enables production to be done within parallel lines

Which one is not a part of conventional production systems?

1) conveyor approaches

2) push-type manufacturing and production

3) division of labor

4) pursuit of high productivity

The word “fluctuations” in the last paragraph can be substituted by ---------- :
1) stabilities 2) exchanges 3) alterations 4) penetrations
You can infer from the passage that in U-line production, ---------- A

1) the level of individual operators is highly promoted

2) cellular process is entirely modified by defining new objectives

3) travel distance and travel time are less than conventional manufacturing
4) each individual operator works in a separated U-shaped area

Process integration strives to ---------- y

1) promote market responsiveness

2) focus more on the tiniest element of work

3) achieve higher customers

4) cling to employee mentality

PASSAGE 2:

The environmental hazards of industrial agriculture comprise air pollution, global
warming, water contamination, oceanic dead zones, animal cruelty, decreased
biodiversity, and unsustainable farmlands. Moreover, there is the vicious cycle of
producers having to use more pesticides and fertilizers which exacerbates this core
problem. Synthetic fertilizers are the largest global source of nitrous oxide emissions
which are 300 times more toxic than carbon dioxide gases. If these are allowed to
continue unchecked, they will not only affect air-pollution levels but also dangerously
intensify our current global warming crisis.
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According to authorities, water pollution is one of the most serious problems arising
from conventional farming methods. Animal waste, artificial fertilizers, and pesticides
leach into the soil. Then they run off through natural irrigation to contaminate
groundwater, which accounts for a large portion of our water supply. Studies
consistently show that nitrates from waste and ferilizers, and chemicals from
pesticides, are creating permanent damage to groundwater around the world.
Furthermor, the preponderance of nitrogen in fertilizers, which help crops grow, ends
up harming oceans. It generates algal overgrowth that depletes so much oxygen in the
water that no plant or animal can survive. This is how the dead zones in the Gulf of
Mexico and the Black Sea were created.

Industrial mono-cropping (in which one crop is repeatedly planted on a single field
with synthetic fertilizers) kills the microorganisms needed to produce soil nutrients.
Accordingly, the soil becomes less fertile over time, which leads to erosion,
unsustainable farmlands, and reduced biodiversity. Because of the infertility of the
soil, farmers then have to use even more fertilizers to maintain productivity. This leads
to a vicious cycle whereby greater environmental hazards are created, and the soil
degrades even further, Likewise with pesticides, whereby only the fittest pests survive,
farmers are forced to use greater amounts or more toxic forms to eradicate them.

The author of this passage wants to ---------- i

1) highlight the environmental dangers of industrial agriculture

2) illustrate the water pollution as the most serious environmental hazard
3) demonstrate the wide spread of sustainable agriculture

4) explain the relationship between using fertilizers and soil erosion

The word “these” in paragraph 1 refers to ---------- a

1) synthetic fertilizers 2) nitrous oxide emissions
3) pesticides 4) carbon dioxide gases
It’s stated in the passage, nitrogen oxide ---------- 7

1) is the most dangerous gas in the environment

2) is generated 300 times more than carbon dioxide

3) ends up harming the crops growth

4) leaks into the soil through using synthetic fertilizers

Marine environment cannot sustain its life when ---------- .

1) much more water is used in industrial agriculture

2) plants and animals consume the oxygen in the water

3) there 1s an overgrowth of algal

4) natural water reservoirs are inadequately protected

All of the following are the effects of industrial mono-cropping EXCEPT---------- :
1) decreasing the soil fertility 2) mitigating the biodiversity
3) accelerating soil erosion 4) killing all microorganisms
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PASSAGE 3:

Responsiveness goes beyond flexibly making any one of a given mix of products. The
future industrial company will use an ever-growing knowledge base of manufacturing
science to implement reconfigurable, scalable, cost-effective manufacturing processes,
equipment, and plants that can be rapidly adapted to specific production needs.

The usual method for transfer of experience about manufacturing processes 1s by
energetic and motivated individuals. That is too slow and inefficient for modern needs.
The rapidly changing environment of manufacturing requires systematic procedures to
increase knowledge of manufacturing processes available to companies. This is
necessary not only for better quality and productivity, but to develop the faster and
more innovative new processes that are needed.

Physical processes should be the fastest link in the value-adding chain. This is
achieved by accruing greater fundamental knowledge and deploying enabling
technologies while viewing and managing the whole extended enterprise system, which
provides the solution to the customer.

Attainment of variable capacity is not solved by outsourcing to simply transfer the
problem to a vendor. Instead, it requires innovations in hardware, such as flexible
processes, and innovations in management of plant and equipment. For example, one
manufacturing company leases production equipment only after getting an order—
thereby matching product, product lifetime, and equipment. When the order is filled,
the leases are terminated. This procedure has been common for decades in the
construction industry. In the future manufacturing enterprise, the missions of specific
facilities will change more rapidly, and the need to reuse or recycle equipment, plant,
and even property will be more frequent. Designers of equipment and factories can no
longer assume single missions and long lifetimes but instead think of the entire
manufacturing complex as a recyclable entity that should be rapidly and economically
adapted to new uses.

Which one is NOT true?

In the future, the current manufacturing processes should be ---------- ;

1) fixed up for a particular purpose

2) productive in relation to their costs

3) changed in size or scale

4) preserved intact for productive needs

For increasing the level of quality and productivity in upcoming days, companies needs

1) faster and more innovative processes

2) systematic procedures

3) energetic and motivated employees

4) multi information systems

The word “leases” in paragraph 4 means ----------

1) rents 2) upgrades 3) provides 4) sells
Value-adding chain can be attained by ---------- ;
1) improving consumer management 2) setting up qualified technologies

3) extending enterprise system 4) preserving existing knowledge
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30- Future plants should be designed to ---------- Y
1) be considered as an entire manufacturing complex
2) offer the best economical products to the customers
3) become rapidly adjusted to new conditions
4) do one single mission during a long lifetime
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